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QUESTION 1

Router 2 is receiving a route to 10.0.0.0/8 from Router 4 and Router 5. What will Router 2 do with the routes shown in
the exhibit? 

A. Router 2 will mark both routes active if the next hops are reachable. 

B. Router 2 will prefer the route received from Router 4 because of a lower origin code value. 

C. Router 2 will prefer the route that arrived first because neither route is necessarily preferable over the other. 

D. Router 2 will prefer the route received from Router 5 because it has a shorter AS path. 

Correct Answer: D 

 

QUESTION 2
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In the exhibit, Router A and Router B have a VRRP relationship through Switch A. Router A is the VRRP master and
Router B\\'s VRRP priority is set to the default. Based on the configuration for Router A shown in the exhibit, which two
interfaces must go down for Router B to become the VRRP master? (Choose two.) 

A. ge-0/0/0 

B. ge-0/0/2 

C. ge-0/0/3 

D. ge-0/0/7 

Correct Answer: AB 

 

QUESTION 3

Which two adjacencies are allowed to form when configuring IS-IS? (Choose two.) 

A. a Level 1 router in Area 5 connected to a Level 2 router in Area 5 

B. a Level 1 router in Area 4 connected to a Level 1 router in Area 2 

C. a Level 2 router in Area 4 connected to a Level 2 router in Area 8 

D. a Level 1 router in Area 3 connected to a Level 1 router in Area 3 
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Correct Answer: CD 

 

QUESTION 4

Routers R1, R2, R3, and R4 are all connected on the same OSPF network segment. While viewing the output of the
show ospf neighbor command on R1, you notice that the interface towards R2 is always in the 2Way state. 

What would cause this state? 

A. R1 is a DR device and R2 is a DROther device. 

B. R1 and R2 are both DROther devices. 

C. R1 and R2 are both BDR devices. 

D. R1 is a DROther device and R2 is a DR device. 

Correct Answer: B 

 

QUESTION 5

Which operational-mode command displays the IP address of all routed VLAN interfaces (RVIs)? 

A. show interfaces terse vlan 

B. show interfaces terse rvi 

C. show interfaces terse ge-* 

D. show vlans terse 

Correct Answer: A 
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